Niphal Strong Worksheet
	
	Qatal/Perfect
	
	Yiqtol/Imperfect
	
	Imperatives
	
	Active Participle

	3ms
	נִקְטַל
	
	יִקָּטֵל
	
	הִקָּטֵל
	
	---

	3fs
	נִקְטְלָה
	
	תִּקָּטֵל
	
	הִקָּֽטְלִי
	
	---

	2ms
	נִקְטַ֫לְתָּ
	
	תִּקָּטֵל
	
	הִקָּֽטְלוּ
	
	---

	2fs
	נִקְטַלְתְּ
	
	תִּקָּֽטְלִי
	
	הִקָּטַ֫לְנָה
	
	---

	1cs
	נִקְטַ֫לְתִּי
	
	אֶקָּטֵל
	
	
	
	

	
	
	
	
	
	Infinitive Construct
	
	Passive Participle

	3mp
	נִקְטְלוּ
	
	יִקָּֽטְלוּ
	
	הִקָּטֵל
	
	נִקְטָל

	3fp
	
	
	תִּקָּטַ֫לְנָה
	
	
	
	נִקְטְלָה  נִקְטֶ֫לֶת

	2mp
	נִקְטַלְתֶּם
	
	תִּקָּֽטְלוּ
	
	Infinitive Absolute
	
	נִקְטְלִים

	2fp
	נִקְטַלְתֶּן
	
	תִּקָּטַ֫לְנָה
	
	הִקָּטֹל  נִקְטֹל
	
	נִקְטְלוֹת

	1cp
	נִקְטַ֫לְנוּ
	
	נִקָּטֵל
	
	
	
	



